			Fragments Needed	Archaeology	Value to		
Found?	Race	Artifact Name and Description	Sockets Avail	Skill Needed	Vendor	Rarity	Associated Achievement
	Draenei	Anklet with Golden Bells	45 + 2 sockets	300	50g	Common	
		Arrival of the Naaru					
	Draenei	Use: displays a scene of Draenei meeting a Naaru	124 + 3 sockets	300	?	Rare	
	Draenei	Baroque Sword Scabbard	46 + 2 sockets	300	10g	Common	
	Draenei	Carved Harp of Exotic Wood	45 + 2 sockets	300	10g	Common	
	Draenei	Dignified Portrait	45 + 2 sockets	300	10g	Common	
	Draenei	Fine Crystal Candelabra	45 + 2 sockets	300	50g	Common	
	Draenei	Plated Elekk Goad	45 + 2 sockets	300	10g	Common	1
	Draenei	Scepter of the Nathrezim	46 + 2 sockets	300	10g		Seven Scepters
	Draenei	Strange Silver Paperweight	46 + 2 sockets	300	10g	Common	
		The Last Relic of Argus					
	Draenei	Use: teleports the player to a random location	130 + 3 sockets	300	?	Rare	
	Dwarf	Belt Buckle with Anvilmar Crest	34	1	1g	Common	
	Dwarf	Dented Shield of Horuz Killcrow	35 + 1 socket	1	10g	Common	Blue Streak
	Dwarf	Dwarven Baby Socks	30	1	1g	Common	
	Dwarf	Golden Chamber Pot	35 + 1 socket	1	5g	Common	
	Dwarf	Ironstar's Petrified Shield	36 + 1 socket	1	5g		Kings Under the Mountain
	Dwarf	Mithril Chain of Angerforge	35 + 1 socket	1	10g		Kings Under the Mountain
	Dwarf	Moltenfist's Jeweled Goblet	34 + 1 socket	1	1g		Kings Under the Mountain
	Dwarf	Notched Sword of Tunadil the Redeemer	35 + 1 socket	1	5g	Common	Blue Streak
	Dwarf	Pewter Drinking Cup	35 + 1 socket	1	1g	Common	
	Dwarf	Pipe of Franclorn Forgewright	45 + 2 sockets	1	20g	Common	
	Dwarf	Scepter of Bronzebeard	45 + 2 sockets	1	20g	Common	Seven Scepters
	Dwarf	Scepter of Charlga Razorflank	35 + 1 socket	1	10g	Common	Seven Scepters
	Dwarf	Scorched Staff of Shadow Priest Anund	35 + 1 socket	1	10g	Common	Blue Streak
	Dwarf	Silver Kris of Korl	45 + 2 sockets	1	20g	Common	Blue Streak
	Dwarf	Silver Neck Torc	34 + 1 socket	1	1g	Common	
	Dwarf	Skull Staff of Shadowforge	35 + 1 socket	1	10g	Common	Kings Under the Mountain
	Dwarf	Spiked Gauntlets of Anvilrage	45 + 2 sockets	1	20g	Common	Kings Under the Mountain
	Dwarf Dwarf	Staff of Sorcerer-Thane Thaurissan Binds to account Two-Hand Staff 1047-1571 Dmg 512 Stamina 341 Intellect Req level 85 Item level 359 Equip: increases haste rating by 229 Equip: increases your critical strike rating by 228 Equip: increases spell power by 1955  Stone Gryphon The Innkeeper's Daughter Use: returns you to where you are hearthed, after use you will be followed for a short time by a ghost of the Innkeeper's	150 + 3 sockets 35 + 1 socket	450 1	? 1g	Rare Common	
	Dwarf	Daughter, a female dwarf	150 + 3 sockets	150	?	Rare	
	Dwarf	Warmaul of Burningeye	45 + 2 sockets	1	20g		Kings Under the Mountain
	Dwarf	Winged Helm of Corehammer	35 + 1 socket	1	5g	Common	Kings Under the Mountain

Found?	Race	Artifact Name and Description	Fragments Needed Sockets Avail	Archaeology Skill Needed	Value to Vendor	Rarity	Associated Achievement
	Dwarf	Wooden Whistle	28	1	1g	Common	
	Dwarf	Word of Empress Zoe	45 + 2 sockets	1	375g	Common	
	Dwarf	Worn Hunting Knife	30	1	1g	Common	
	Dwarf	Bodacious Door Knocker	35 + 1 socket	1	5g	Common	
	Dwarf	Bone Gaming Dice	32	1	1g	Common	
	Dwarf	Boot Heel with Scrollwork	34 + 1 socket	1	5g	Common	
	Dwarf	Ceramic Funeral Urn	35 + 1 socket	1	1g	Common	
	Dwarf	Chalice of the Mountain Kings Use: 3 female dwarves appear and dance for 20 sec	100 + 3 sockets	150	40s	Rare	
	Dwarf	Clockwork Gnome minipet - mechagnome	100 + 3 sockets	225	10g	Rare	
	Fossil	Ancient Amber Use: traps your character in amber	?	?	?	Rare	
	Fossil	Ancient Shark Jaws	35	1	5g	Common	
	Fossil	Beautiful Preserved Fern	25	1	1g	Common	
	Fossil	Black Trilobite	31	1	1g	Common	
	Fossil	Devilsaur Tooth	35	1	5g	Common	
		190 Strength 286 Stamina Req level 85 Item level 359 Equip: increases your dodge rating by 114					
	Fossil	Equip: increases your mastery rating by 134	?	?	?	Rare	
	Fossil	Feathered Raptor Arm	33	1	10g	Common	
	Fossil	Fossilized Hatchling minipet - raptor bones	85	75	?	Rare	
	F1	Fossilized Raptor	400	450	0	D	
	Fossil	mount - raptor bones	100	150	?	Rare	
	Fossil	Imprint of a Kraken Tentacle	45	300	200g	Common	
	Fossil	Insect in Amber	35	1	5g	Common	
	Fossil	Proto-Drake Skeleton	45	300	20g	Common	
	Eccell	Pterrordax Hatchling minipet - pterrordax	?	?	?	Doro	
	Fossil Fossil	Shard of Petrified Wood	30	1	1g	Rare Common	
			35	1		Common	
	Fossil	Twisted Ammonite Shell	35	1	1g 1g	Common	
	Fossil	Vicious Ancient Fish	35	1	10g	Common	
		Blessing of the Old God Use: transforms the character into a Green Qiraji Battle					
		Tank for 20 sec	140 + 3 sockets	375	10g	Rare	
		Gruesome Heart Box	45 + 2 sockets	375	10g	Common	
	Nerubian	Infested Ruby Ring	45 + 3 sockets	375	7g	Common	

		And the state of t	Fragments Needed	Archaeology	Value to		
Found?	Race	Artifact Name and Description	Sockets Avail	Skill Needed	Vendor	Rarity	Associated Achievement
	Nerubian	Puzzle Box of Yogg-Saron Use: character attempts to open it, but cannot	140 + 3 sockets	375	?	Rare	
		Scepter of Nezar'Azret	45 + 2 sockets	375	20g		Seven Scepters
		Six-Clawed Cornice	45 + 2 sockets	375	50g	Common	
		Spidery Sundial	45 + 2 sockets	375	20g	Common	
		Vizier's Scrawled Streamer	45 + 2 sockets	375	10g	Common	
		Ewer of Jormungar Blood	45 + 2 sockets	375	10g	Common	
	Nerubian	Bones of Transformation	40 + 2 300Rets	373	109	Common	
	Night Elf		150 + 3 sockets	450	?	Rare	
		Carcanet of the Hundred Magi	45 + 2 sockets	450	20g	Common	
		Chest of Tiny Glass Animals	34 + 1 socket	450	100g		Tragedy in Three Acts
	0	Cloak Clasp with Antlers	35 + 1 socket	1	3g	_	Tragedy in Three Acts
		Coin from Eldre'Thalas	35 + 1 socket	1	2g	Common	
	0	Cracked Crystal Vial	35 + 1 socket	1	5g		Tragedy in Three Acts
	Night Elf	Delicate Music Box	35 + 1 socket	1	5g	Common	Tragedy in Three Acts
		Druid and Priest Statue Set					
		Use: a green shaft of light centered on your character				_	
		appears for 10 sec	100 + 3 sockets	150	?	Rare	
		Green Dragon Ring	35 + 1 socket	1	2g	Common	
		Hairpin of Silver and Malachite	35 + 1 socket	1	5g	1	Tragedy in Three Acts
	Night Elf	Highborne Pyxis	30	1	1g	Common	
		Highborne Soul Mirror					
		Use: Ghost of your character appears for 20 sec	100 + 3 sockets	150	20s	Rare	
	•	Inlaid Ivory Comb	30	1	1g	Common	
	Night Elf	Kaldorei Amphora	35 + 1 socket	1	5g	Common	
		Kaldorei Wind Chimes					
	Night Elf	Use: plays wind chimes	98 + 3 sockets	225	?	Rare	
	Night Elf	Necklace with Elune Pendant	30	1	1g	Common	
		Queen Azshara's Dressing Gown					
		Binds to account					
		Cloth Chest					
		258 Armor					
		27 Stamina					
		41 Intellect					
		Req level 51					
		Item level 78					
		Use: increases haste rating by 23					
		"The rumors of the Highborne's poor fashion sense seem to					
	Night Elf	be true."	100 + 3 sockets	225	?	Rare	
		Scandalous Silk Nightgown	30	1	1g	Common	
		Scepter of Xavius	35 + 1 socket	1	10g	Common	Seven Scepters
		Shattered Glaive	35 + 1 socket	1	2g	Common	
		Silver Scroll Case	45 + 2 sockets	450	200g		Tragedy in Three Acts
		String of Small Pink Pearls	35 + 1 socket	1	10g	Common	

			Fragments Needed	Archaeology	Value to		
Found?	Race	Artifact Name and Description	Sockets Avail	Skill Needed	Value to	Rarity	Associated Achievement
i ounu :	ixace	Activative and Description	Occidents Avail	Okin Necaca	Vendor	ixarity	Associated Acinevement
		Tyrande's Favorite Doll					
		Bind on account					
		Trinket					
		321 Intellect					
		Req level 85					
		Item level 359					
		Equip: recaptures 20% of all the mana you spend on skills,					
		and stores it within the doll to be released at a later time. Up					
		to a max of 4200 mana can be stored.					
		Use: releases all mana stored within the doll, causing you to					
		gain that much mana, and all enemies within 15 yards take 1			_	_	
		point of Arcane damage for each point of mana released.	150 + 3 sockets	450	?	Rare	
	Night Elf	Umbra Crescent	45 + 2 sockets	450	20g	Common	
	l	Wisp Amulet			_	_	
	Night Elf		150 + 3 sockets	450	?	Rare	
	Orc	Fierce Wolf Figurine	45 + 2 sockets	300	10g	Common	
	Orc	Gray Candle Stub	45 + 2 sockets	300	5g	Common	The Harder they Fall
	Orc	720 Armor red, blue, yellow sockets Req level 61 Item level 105 Equip: increases your hit rating by 22 Equip: increases your critical strike rating by 22 Use: allows you to see far into the distance	130 + 3 sockets	300	?	Rare	
	Orc	Maul of Stone Guard Mur'og	45 + 2 sockets	300	50g	Common	The Harder they Fall
	Orc	Rusted Steak Knife	45 + 2 sockets	300	1g		The Harder they Fall
	Orc	Scepter of Nekros Skullcrusher	45 + 2 sockets	300	80g	Common	Seven Scepters
	Orc	Skull Drinking Cup	45 + 2 sockets	300	5g	Common	
	Orc	Tile of Glazed Clay	45 + 2 sockets	300	5g	Common	
	Orc	Tiny Bronze Scorpion	45 + 2 sockets	300	25g	Common	The Harder they Fall
	Orc	Fiendish Whip	45 + 2 sockets	300	10g	Common	
		Canopic Jar Use: contains Mummified Organs, or if character is an Alchemist, has a 5-10% chance to contain Recipe: Vial of the					
	Tol'vir	Sands	45 + 2 sockets	450	?	Common	The Boy Who Would be King
	Tol'vir	Castle of Sand	45 + 2 sockets	450	10g	Common	
	Tol'vir	Cat Statue with Emerald Eyes	45 + 2 sockets	450	100g	Common	The Boy Who Would be King
	Tallida	Crawling Claw minipet - disembodied hand	450 + 2lt-	450	F	Doro	
	Tol'vir		150 + 3 sockets	450	5s	Rare	The Boy Mhe Maydal had Care
	Tol'vir	Engraved Scimitar Hilt	45 + 2 sockets	450	10g	Common	The Boy Who Would be King
	Tol'vir	Pendant of the Scarab Storm Use: summons scarabs that follow your character for 20 sec	150 + 3 sockets	450	?	Rare	

	1	1	Francouta Nacidad	Anakasalami	Value to	1	1
F10	<b>D</b>	Artifact Name and Description	Fragments Needed	Archaeology	Value to	D	A i - ( - ( A - b i )
Found?	Race	Artifact Name and Description	Sockets Avail	Skill Needed	Vendor	Rarity	Associated Achievement
		Ring of the Boy Emperor					
		Binds to account					
		Finger Ring					
		286 Stamina					
		190 Intellect					
		Req level 85					
		Item level 359					
	Tallyde	Equip: increases your haste rating by 127 Equip: increases your mastery rating by 127	150 + 3 sockets	450	?	Doro	
	Tol'vir	Equip. Increases your mastery fatting by 127	150 + 3 SOCKEIS	450	<i>f</i>	Rare	1
		Scepter of Azi'Aqir					
	Tol'vir	mount - Ultramarine Qiraji Battle Tank, usable outside AQ	150 + 3 sockets	450	?	Rare	
	TOIVII	mount - Ottamanne Quaji Battle Tank, usable outside AQ	150 + 5 SOCKEIS	450	f	Kale	
		Scimitar of the Sirocco					
		Binds to account					
		One-Hand Sword					
		841-1563 dmg					
		146 Strength					
		219 Stamina					
		Req level 85 Item level 359					
		Equip: increases your critical strike rating by 111					
		Equip: increases your critical strike rating by 111					
	Tol'vir	"The wind in the desert has a name"	150 + 3 sockets	450	?	Rare	
	Tol'vir	Sketch of a Desert Palace	45 + 2 sockets	450	10g		The Boy Who Would be King
	Tol'vir	Soapstone Scarab Necklace	45 + 2 sockets	450	10g		The Boy Who Would be King
		Oleff of Assessment					
		Staff of Ammunae Binds to account					
		Two-Hand Staff					
		512 Stamina					
		341 Intellect					
		247 Spirit					
		Reg level 85					
		Item level 359					
		Equip: increases your critical strike rating by 194					
	Tol'vir	Equip: increases spell power by 1955	150 + 3 sockets	450	?	Rare	
	Tol'vir	Tiny Oasis Mosiac	45 + 2 sockets	450	15g		The Boy Who Would be King
	Troll	Atal'ai Scepter	35 + 1 socket	1	5g		Seven Scepters
	Troll	Bracelet of Jade and Coins	35 + 1 socket	1	25g	Common	
	Troll	Cinnabar Bijou	35 + 1 socket	1	5g	Common	
	Troll	Drakkari Sacrificial Knife	35 + 1 socket	1	10g	Common	
	Troll	Eerie Smolderthorn Idol	35 + 1 socket	1	5g	Common	
	Troll	Feathered Gold Earring	34 + 1 socket	1	5g	Common	
	Troll	Fetish of Hir'eek	30	1	1g	Common	
	Troll	Fine Bloodscalp Dinnerware	32	1	1g	Common	_
	Troll	Gahz'rilla Figurine	35 + 1 socket	1	5g	Common	
	Teall	Haunted War Drum	2	2	2	Dere	
	Troll	Use: listen to war drums	?	?	?	Rare	

Troil   Lizard Foot Charm   35 + 1 socket   1   5g   Common				Fragments Needed	Archaeology	Value to		
Troll   Lizard Foot Charm   32	Found?	Race	Artifact Name and Description	Sockets Avail	Skill Needed	Vendor		Associated Achievement
Troll   Skull-Shaped Planter   35 + 1 socket   1   5g   Common								
Troil		_						
Troll			,					
Troll		Troll		35 + 1 socket	1	50g	Common	
Troll								
Zinrokh, Destroyer of Worlds   Binds to account   Two-Hand Sword   1894-2842 drng   341 Strenght   512 Stamina   Req level 85   Item level 359   Equip: increases your hit rating by 216   Equip increases your critical strike by 238   150 + 3 sockets   450   7   Rare								
Binds to account Two-Hand Sword 1894-2842 dmg 341 Strenght 512 Stamina Req level 85 Item level 359 Equip: increases your critical strike by 238  150 + 3 sockets 450 ? Rare  Vrykul Fine Striker 45 + 2 sockets 375 20g Common  Vrykul Intricate Treasure Chest Key 45 + 2 sockets 375 50g Common  Nifflevar Bearded Axe Binds to account One-Hand Axe 312-580 dmg 36 Agility 87 Stamina Req level 71 Item level 226 Equip: increases your ritical strike rating by 24 Vrykul Equip: increases your hit rating by 24 Vrykul Equip: increases your hit rating by 24 Vrykul Equip: increases your critical strike rating by 37 Vrykul Thorned Necklace 45 + 2 sockets 375 10g Common  Vrykul Thorned Necklace 45 + 2 sockets 375 10g Common  Vrykul Thorned Necklace 45 + 2 sockets 375 10g Common  Vrykul Drinking Horn Consumable: increases character size and character is drunk		Troll	Zandalari Voodoo Doll	27	1	1g	Common	
Binds to account Two-Hand Sword 1894-2842 dmg 341 Strenght 512 Stamina Req level 85 Item level 359 Equip: increases your critical strike by 238  150 + 3 sockets 450 ? Rare  Vrykul Fine Striker 45 + 2 sockets 375 20g Common  Vrykul Intricate Treasure Chest Key 45 + 2 sockets 375 50g Common  Nifflevar Bearded Axe Binds to account One-Hand Axe 312-580 dmg 36 Agility 87 Stamina Req level 71 Item level 226 Equip: increases your ritical strike rating by 24 Vrykul Equip: increases your hit rating by 24 Vrykul Equip: increases your hit rating by 24 Vrykul Equip: increases your critical strike rating by 37 Vrykul Thorned Necklace 45 + 2 sockets 375 10g Common  Vrykul Thorned Necklace 45 + 2 sockets 375 10g Common  Vrykul Thorned Necklace 45 + 2 sockets 375 10g Common  Vrykul Drinking Horn Consumable: increases character size and character is drunk			Zin'rokh, Destrover of Worlds					
Two-Hand Sword   1894-2842 dmg   341 Strenght   512 Stamina   Req level 85   Item level 359   Equip: increases your ritical strike by 238   150 + 3 sockets   450   7   Rare								
341 Strenght   512 Stamina   Req level 85   Item level 359   Equip: increases your hit rating by 216   Troll   Equip increases your critical strike by 238   150 + 3 sockets   450   ? Rare								
341 Strenght   512 Stamina   Req level 85   Item level 359   Equip: increases your hit rating by 216   Troll   Equip increases your critical strike by 238   150 + 3 sockets   450   ? Rare			1894-2842 dma					
S12 Stamina   Req level 85   Item level 359   Equip: increases your hit rating by 216   Equip increases your ritical strike by 238   150 + 3 sockets   450   ?   Rare								
Item level 359   Equip: increases your hit rating by 216   Equip: increases your critical strike by 238   150 + 3 sockets   450   ? Rare								
Item level 359   Equip: increases your hit rating by 216   Equip: increases your critical strike by 238   150 + 3 sockets   450   ? Rare			Rea level 85					
Troll Equip increases your critical strike by 238								
Troll Equip increases your critical strike by 238			Equip: increases your hit rating by 216					
Vrykul         Fanged Cloak Pin         45 + 2 sockets         375         20g         Common           Vrykul         Flint Striker         45 + 2 sockets         375         5g         Common           Vrykul         Intricate Treasure Chest Key         45 + 2 sockets         375         50g         Common           Nifflevar Bearded Axe         Binds to account         One-Hand Axe         312-580 dmg         36 Agility         36 Agility         45 + 2 sockets         375         7         Rare           Vrykul         Scramseax         45 + 2 sockets         375         10g         Common           Vrykul         Thorned Necklace         45 + 2 sockets         375         10g         Common           Vrykul         Drinking Horn         Consumable: increases character size and character is drunk		Troll		150 + 3 sockets	450	?	Rare	
Vrykul Intricate Treasure Chest Key 45 + 2 sockets 375 50g Common  Nifflevar Bearded Axe Binds to account One-Hand Axe 312-580 dmg 36 Agility 87 Stamina Req level 71 Item level 226 Equip: increases your hit rating by 24 Vrykul Equip: increases your critical strike rating by 37 130 + 3 sockets 375 ? Rare  Vrykul Scramseax 45 + 2 sockets 375 10g Common  Vrykul Thorned Necklace 45 + 2 sockets 375 10g Common  Vrykul Drinking Horn Consumable: increases character size and character is drunk		Vrykul		45 + 2 sockets	375	20g	Common	
Nifflevar Bearded Axe Binds to account One-Hand Axe 312-580 dmg 36 Agility 87 Stamina Req level 71 Item level 226 Equip: increases your hit rating by 24 Vrykul Equip: increases your critical strike rating by 37  Vrykul Scramseax 45 + 2 sockets 375  Vrykul Drinking Horn Consumable: increases character size and character is drunk		Vrykul	Flint Striker	45 + 2 sockets	375	5g	Common	
Binds to account One-Hand Axe 312-580 dmg 36 Agility 87 Stamina Req level 71 Item level 226 Equip: increases your hit rating by 24 Vrykul Equip: increases your critical strike rating by 37  Vrykul Scramseax  45 + 2 sockets  375  Rare  Vrykul Thorned Necklace  Vrykul Drinking Horn Consumable: increases character size and character is drunk		Vrykul	Intricate Treasure Chest Key	45 + 2 sockets	375	50g	Common	
Binds to account One-Hand Axe 312-580 dmg 36 Agility 87 Stamina Req level 71 Item level 226 Equip: increases your hit rating by 24 Vrykul Equip: increases your critical strike rating by 37  Vrykul Scramseax  45 + 2 sockets  375  Rare  Vrykul Thorned Necklace  Vrykul Drinking Horn Consumable: increases character size and character is drunk			Nifflevar Bearded Axe					
One-Hand Axe 312-580 dmg 36 Agility 87 Stamina Req level 71 Item level 226 Equip: increases your hit rating by 24 Vrykul Equip: increases your critical strike rating by 37  Vrykul Scramseax  45 + 2 sockets  75  Rare  Vrykul Thorned Necklace  Vrykul Drinking Horn Consumable: increases character size and character is drunk								
312-580 dmg 36 Agility 87 Stamina Req level 71 Item level 226 Equip: increases your hit rating by 24 Vrykul Equip: increases your critical strike rating by 37  Vrykul Scramseax  Vrykul Thorned Necklace  Vrykul Drinking Horn Consumable: increases character size and character is drunk								
36 Agility 87 Stamina Req level 71 Item level 226 Equip: increases your hit rating by 24 Vrykul Equip: increases your critical strike rating by 37  Vrykul Scramseax  Vrykul Scramseax  45 + 2 sockets  375  Rare  Vrykul Thorned Necklace  45 + 2 sockets  375  Vrykul Drinking Horn Consumable: increases character size and character is drunk								
87 Stamina Req level 71 Item level 226 Equip: increases your hit rating by 24 Vrykul Equip: increases your critical strike rating by 37  130 + 3 sockets 375 ? Rare  Vrykul Scramseax 45 + 2 sockets 375 10g Common  Vrykul Drinking Horn Consumable: increases character size and character is drunk								
Req level 71   Item level 226   Equip: increases your hit rating by 24   Vrykul Equip: increases your critical strike rating by 37   130 + 3 sockets   375   ? Rare   Vrykul Scramseax   45 + 2 sockets   375   10g Common     Vrykul Thorned Necklace   45 + 2 sockets   375   10g Common     Vrykul Drinking Horn   Consumable: increases character size and character is drunk								
Item level 226   Equip: increases your hit rating by 24   Vrykul   Equip: increases your critical strike rating by 37   130 + 3 sockets   375   ?   Rare								
Equip: increases your hit rating by 24 Vrykul Equip: increases your critical strike rating by 37  130 + 3 sockets  375 ? Rare  Vrykul Scramseax 45 + 2 sockets 375 10g Common  Vrykul Drinking Horn Consumable: increases character size and character is drunk								
Vrykul     Equip: increases your critical strike rating by 37     130 + 3 sockets     375     ?     Rare       Vrykul     Scramseax     45 + 2 sockets     375     10g     Common       Vrykul     Thorned Necklace     45 + 2 sockets     375     10g     Common       Vrykul Drinking Horn     Consumable: increases character size and character is drunk								
Vrykul Scramseax  Vrykul Thorned Necklace  Vrykul Drinking Horn  Consumable: increases character size and character is drunk		Vrvkul		130 + 3 sockets	375	?	Rare	
Vrykul Thorned Necklace 45 + 2 sockets 375 10g Common  Vrykul Drinking Horn Consumable: increases character size and character is drunk								
Vrykul Drinking Horn Consumable: increases character size and character is drunk		,	Thorned Necklace	45 + 2 sockets	375		Common	
Consumable: increases character size and character is drunk								
		Vrykul		?	?	?	Rare	

Note

Note
Added in patch 4.1
Added in patch 4.1
Added in patch 4.1

Arc	haeo	logy	<b>Artifa</b>	cts
_		- 3,		

Note

Note	

Note
Added in patch 4.1

Note
Added in patch 4.1
Added in patch 4.1